FBEEFH7—F)—RKELHERE 2015510 BIIFERRAR—YLE*B1H
YH—TDERF
Bz |24 K 4 g 1&H 70M(1) [ 70M(2) | TOTAL | 10G X
1 2D NER E— i/ RCM—#i& 320 317 637 19 8
2 1D WE B il RCM—fi% 308 319 627 17 6
3 2 C EHR B@ JEJII RCM—#i& 304 311 615 10 2
4 2 A P N FiE RCM—#i& 302 305 607 10 1
5 3 B =i A4 FL1E RCM—#i& 296 294 590 10 2
6 1 C EE £k HEJI| RCM—#i& 288 277 565 6 2
7 3 D HER B AL1R RCM—i& 281 280 561 9 4
8 4 A maf KK X RCM—#i& 245 289 534 6 4
9 1B EER BRE HEJI RCM—fi& 275 252 527 6 1
10| 3 A FEERL HEJII RCM—#i& 243 257 500 4 2
11 2 B Al EFE LidI RCM—fi& 279 209 488 6 1
12| 4D e ZE #L1% RCM—i& 231 249 480 2 1
13| 4 C E G X RCM—#i& 242 228 470 8 1
14 ]| 4B s Thig AL RCM—#i& 208 232 440 7 3
15| 3 C BE2EH % X RCM—#i& 173 213 386 0 0
YH—TDERF
NBLL |4 K 4 iR 1] 70M(1) [ 70M(2) | TOTAL | 10G X
1 5 C Ik EA FLIREEE RCM/A 4 297 301 598 14 4
2 5D IR R fLiREILE | ROMAE 308 283 591 13 3
3 7 A EH =3 E[#: S RCM/A>4E 296 295 591 10 2
4 7B &5 EAH HBJIlEE RCMAr4E 295 287 582 11 2
5 7D HEZBZN FLIREES RCM/A> 4 282 286 568 10 3
6 5 B B _Eh dbimEx RCM/A 4 276 289 565 14 8
7 6 B MR B dbimEx RCM/ £ 276 282 558 6 1
8 5 A R AHE JEJIE RCM/ 4 273 279 552 10 6
9 6 D B KiE JEJIE RCMAr4E 267 265 532 6 2
10| 6 C Xz B FLIREEE RCM/A> 4 269 259 528 5 1
11 7C W E % 3EES RCM/ArE 245 272 517 4 2
12 [ 6 A BRI R EHEKE | RCMAE 239 268 507 6 0
Yh—T—B&xF
NBfL | £ 4 K 4 g 1= 70M(1) [ 70M(2) | TOTAL | 10G X
1 9 D TH BE HEJI| RCW—fi& 269 280 549 2 0
2 9 C —fi LEF AL1% RCW—i& 227 226 453 1
DNS| 9 B BEH EZ AL RCW—#& 0 0 0 0
Yh—TDELF
Bz |24 K & FE 1&H 70M(1) [ 70M(2) | TOTAL | 10G X
1 9 A £H $F FLIRE AL RCW/ £ 276 291 567 7 4
2 8 B = BR FLIREEALEE | RCW/AME 267 287 554 14 5
3 8 C B E[#: e RCW/L £ 255 274 529 4 1
4 8 A g tif FLIREILE | ROWAE 248 237 485 1
5 8 D 2R HE % BEES RCW/ 4 262 218 480 1
aVISYVEBF
JBRE | £ w4 K 4 B 1] 50M(1) | 50M(2) | TOTAL | 10G X
1 [11 D A FL1% CP-M 320 327 647 22 8
2 |13 B B R KIE FL1% CP-M 322 323 645 22 8
3 |11 A Al EE FLIE CP-M 317 320 637 23 6
4 |13 A R #E BREE cP-M 319 316 635 18 11
5 |11 ¢ NG BRE il I CP-M 316 312 628 16 7
6 |10 D WA FE HEJI CP-M 313 310 623 16 2
7 [13 ¢C " e— ALIR CP-M 309 314 623 15 4
8 |12 B EXk T /MR CP-M 310 293 603 15 5
9 |11 B HlE F— #L1% CP-M 300 303 603 13 3
10 | 12 A kB s BHEE CcP-M 298 305 603 11 3
11 [12 D =L iF5 FLIR cP-M 298 298 596 7 2
12 [12 ¢C Bilg WA FL1% CP-M 305 276 581 10 3
=AM
Bz [ v K 4 g 1] 50M(1) | 50M(2) | TOTAL [ 10G X
1 |10 B R’ OER A% CP-W 271 293 564 15 4
2 |10 A XiIE HE =INME CP-W 248 276 524 5 1
3 |10cC BLE 1h HE CP-W 287 236 523 7 2




